Question Bank For BDP Course

&f=® 515%™ ( Elective Course )

9% ( Mathematics )

TPV 9@ ( 16th Paper ) - THEORY
Computer Programming in C: EMT-16 - THEORY

Q1:

The value of two binary variables A and Bare 1101.011 and 11.10 respectively, then
determine the value of A-B.
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Q2:

An n -digit binary number is multiplied with another m-digit binary number. What is the
maximum value of the result of the multiplication?
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Q3:

Consider two n-digit binary numbers are A and B . While finding the value of A—B using
2's —compliment method, most significant digit of the result is found as a carry bit. What is
relationship between the variables A and B in this situation?
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Q4:

Find out the quotient and remainder of the binary division (10110.1), +(1101),.
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Q5:

Find out the octal equivalent of the hexadecimal number (F42),.
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Qé:

Find below an algorithm of finding the sum of first nnaturel numbers.

1%t step:

read the value of n.

2" step: Initialize the variable sum (used to store the final result) by 0.

3" step: Initialize the variable i (ith natural number) by 1.

4™ step: The value of sum is replaced by sum+i .

5t step:

6" step:

increment the value of i

Go to 4™ step again.

Which of the characteristics are not present in the above algorithm?
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Q7:



Determine the size of character constant ‘A" and string constant "A”".
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Qs8:

Three arithmetic expressions are written below in C language.

) 12/5 ii) 3.5%5 iii) 13.0/5

What are the outputs of the above expressions?
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Qo:

Find below few statements in C-language.
float x=18.23 ;
printf( “%1.1\n" , x ) ;
printf( “%-8.3f", x);
Determine the output of the above statements.
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float x=18.23 ;
printf( “%1.1\n" , x ) ;
printf( “%-8.3f", x);
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Q10:

The main block of two different C-programs are given below.

Program-1 ( main ) Program-2 ( main)

intsum =0, x; intsum =0, x;
for(x=0;x<=100; x++) for(x=0;x<=100; )




{ {

sum = sum + X ; sum = sum + X ;
} X++;
printf (“%d" , sum); }
printf ( "%d" , sum) ;

Are the above programs legal? If so find the output.
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program -1 ( main ) program -2 ( main )

intsum =0, x; intsum =0, x;
for(x=0;x <=100; x++) for(x=0;x<=100; )

{ {

sum = sum + X ; sum = sum + X ;

} X++ ;

printf ( “%d” , sum); }
printf ( "%d" , sum) ;
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Q11:
A 3x4 matrix M is given below.
-2 5 7 6
M=|3 0 2 8
-2 1 -1 9

If the matrix M is stored in a two dimensional array X, then what are the values of

x[2][1], x[11[3] ?
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Q12:

Find below two statements P and Q in C-language, where
Piz=(x—-y)*xand Q:z=(x>Y)
Which component of a computer is used to execute these statements?
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Q13:

What is the function of an assembler?
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Q14:

Some statements are given below about C-program:

i) C-program is comprised of one or more C-function.
i)  C—program can have only one main function.

iii)  The condition is tested at the beginning in Do-while loop.

Which statement/s is/are correct?
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Q15:
The main function of a C-program is given below.

float n=2;
switch (n)
{
case 1: printf ("The value of nis One") ;
break;

case 2 : printf ( "The value of nis Two" ) ;
break;

default : printf ( "The value of nis Three" ) ;
}

A compilation error is received after executing the above C-program. Mention the reason
for the error.
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float n=2;
switch (n)
{

case 1: printf (" The value of nis One" ) ;
break;

case 2 : printf (" The value of niis Two" ) ;
break;

default : printf (" The value of nis Three" ) ;
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